Example 8:

1Kg of H2O at 0( C is heated to 100( C by contact with a heat reservoir at 100( C. What is (s for the H2O? What is it for the reservoir?
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Consider the system to be a constant P process (water may expand).


[image: image2.wmf](

)

K

Kg

KJ

K

Kg

KJ

Kg

T

T

nC

s

P

O

H

305

.

1

173

373

ln

184

.

4

1

ln

1

2

2

=

÷

ø

ö

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

=

=

D



[image: image3.wmf]ò

-

=

D

2

T

dQ

s

res



[image: image4.wmf](

)

1

2

2

T

T

C

Q

O

H

P

rev

-

=



[image: image5.wmf]K

Kg

KJ

s

res

×

-

=

D

121

.

1

.



[image: image6.wmf]K

Kg

KJ

s

Total

×

=

D

184

.

0


large reservoir





from 1st Law





Ok, process possible
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